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20-    =10 


10+     =     = 








WALT: To find the missing number in a number sentence. 


To check answers using inverse equation. 





8+     =10


     -2= 8





    +4 =10


10-     = 6





15+     =19


19-     =








      +2=18


18-     =16





21+10= 


31 -    =








15-     =5


     + 5=15





 5+� =11  


      - 5 =6











               





10+    =60


60-    =10





20-    =10


10+    =20








10+     =21


21-10=








5x     =10


10÷2=





31





WALT: To find the missing number in a number sentence. 


To check answers


using inverse equation. 








5x     =20


20÷     =


   








6 x    =60


    ÷    =








35 ÷     =5


   X    =35 








50÷  ==10


10X    =








15÷     = 5


5x      = 15





24÷    =6


4x6=











41





WALT: 


To check answers


using inverse (opposite)


 equation.  








     +    =


     -     =








     -    =


     +     =








     x    =


     ÷     =








     x    =


     ÷     =








     x    =


     ÷     =








     +    =


     -     =











